TEST PAPER

1.Who is the father of Computers?
SPGB GRS (F?
FER B[P B 82

ANSWER:-

a) James Gosling

b) Charles Babbage
c) Dennis Ritchie

d) Bjarne Stroustrup

2.Which of the following is the correct definition of Computer?

Ao (FRfoa~roenaa 3fds S
fFrafafaa Ao Aewer Fragufvummg?

ANSWER:-

a) Computer is a machine or device that can be programmed to performarithmetical or logic
operation sequences automatically

b) Computer understands only binary language which is written in the form of 0s& 1s

c) Computer is a programmable electronic device that stores, retrieves, andprocesses the data
d) All of the mentioned

3.What is the full form of CPU?
cPU g9 “yfamer {32

Hfigerea wiHwRaR?

ANSWER:-

a) Computer Processing Unit
b) Computer Principle Unit
c) Central Processing Unit

d) Control Processing Unit

4.Which of the following language does the computer understand ?& NG OIA fNTHT (TN
e fAufafad dfesw yesauseR?
ANSWER:-

a) Computer understands only C Language

b) Computer understands only Assembly Language
c) Computer understands only Binary Language

d) Computer understands only BASIC

5.Which of the following computer language is written in binary codesonly?

fAea (TR SIS SEfe QYIRS TG TALTRH?
Frafafeaa dgeF Seger yudad ssRieis Afederdis?

ANSWER:-




a) pascal

b) machine language
c)C

d) c#

6.Which of the following is the brain of the computer?
Frafafa dgeH aeweR ifgar 82
fAtea (FRba~reenad NS %?

ANSWER:-

a) CPU

b) Memory

c) Arithmetic and Logic unit
d) Control unit

7.Which of the following is not a characteristic of a computer?

ANSWER:-

a) Versatility
b) Accuracy
c) Diligence
d) .Q.

8.Which of the following is the smallest unit of data in a computer?

fAea (RS IEENatubId FHON AFF?
HUER HSeCTH aaUoIcIsHTs HuHaD I de?

ANSWER:-

a) Bit

b) KB

c) Nibble
d) Byte

9.Which of the following unit is responsible for converting the data received from the user into a

computer understandable format'?mw CW&TM
@ETLIINTTAAGIIA GUINIER (SN 5 ATl

ANSWER:-

a) Output Unit

b) Input Unit

c) Memory Unit

d) Arithmetic & Logic Unit




10.Which of the following monitor looks like a television and are normally used with non-portable
computer systems?

fAToa (= MR BB TMATO B AT N NTOTIISHATLATS NN-CATLEIA GBI
B2 (2218 CIEEQUERF

fraferfad Al® amHifet te Seifae Flave foadresik SmdR W IR-uidad e
Rvew a1y wanT fearrar?

ANSWER:-

a) LED
b) LCD
c) CRT
d) Flat Panel Monitors

11.Which of the following part of a processor contains the hardware necessary to perform all the
operations required by a computer?

aﬁmﬁrw (FN S TIH G BITAT TR AN B H N ATH

S ATACR?
ﬁaﬁ@aﬁﬁuﬁwm YT S e GRISTTAD GBI B IBIABIT ATTAD
SRR graTe?

ANSWER:-

a) Controller
b) Registers
c) Cache

d) Data path

12.Which of the following is designed to control the operations of acomputer?

Ao (FRfoa=roenaa fFTaary NATgT A G TIE~ FARCIY
Frafafaa dafeaewer Sauaa S sxadfen fEwg- fearmre?

ANSWER:-

a) User

b) Application Software
c) System Software

d) Utility Software

13.Which of the following device use positional notation to represent a decimal number?

I T4 FfSfAfigFareNTed (@ fTerR A WIR NS IR N 3=

IEA?
HISUUNT HIdTE?

ANSWER:-

a) Pascaline
b) Abacus

c) Computer
d) Calculator




14.Which of the following is used in EBCDIC?
fNT5d (FRI® EBCDIC 9 ITITO TN?
escpic AfHfefad Aafeassuar feammarg?

ANSWER:-

a) Super Computers
b) Mainframes

¢) Machine Codes
d) Programming

15.Which of the following are physical devices of a computer?

fATtoa (FReF=Tobnad (oo I7?
FEAd®H BugeR Hiifae Iuwr §:

ANSWER:-

a) Hardware

b) Software

c) System Software
d) Package

16.Which of the following devices provides the communication between acomputer and the outer
world?fNTEa (I TFBIFBF 1o b1a A3 IRIITI TCLTTITMTITST AN FTA?
Frafafed de i IeuUs o $HeR 3R SEiigHaredd GUR UGH®Rdle?

ANSWER:-

a) Compact
b) I/0

c) Drivers
d) Storage

17.Which of the following is known as the language made up of binary-coded instructions?

fFafafad Aafedas-eRs AT yS=v ASHeTaRe?

ANSWER:-

a) High level
b) BASIC
c)C

d) Machine

18.Which of the following invention gave birth to the much cheapermicrocomputers?
?

ANSWER:-

a) PDAs
b) Microprocessors




¢) Microcomputers
d) Mainframes

19.Which of the following computers are lower than mainframe computers in terms of speed and
storage capacity?

SIfS8 COIAG FNOIF F (YTHATHT (TN F=HNOOId (NRATH N FNOoIad
(ST N?
ANSWER:-

a) Mainframes
b) Hybrid

c) Mini

d) Super

20.What is the term for a temporary storage area that compensates for differences in data rate
and data flow between devices?

SR THT MATTT BRI 93T BIAIANTZA ANATHTI GRIHIOAAT (AHATN
S OO RN BTN *IHODI?
TP SRITIHERUT &S AT FTgulISeTe? 3R SUBIVN BT SeTUdIg A3 PIHIUTS

ANSWER:-

a) Buffer
b) Bus

c¢) Channel
d) Modem

21. Which input device is/are used to move the cursor position on a monitor screen?

WRBEA {FH T FHIET AW FACS (FI 20 G2 7327 FaT TH?
wwﬁ;wwwﬁ@rﬁrﬁwmmﬁ$mmwmmm
SITeT 82

ANSWER:-

a) Mouse

b) Keyboard

C) Scanner

d) All of the above

22. The number of function keys in a keyboard is? (6 FIAMCH TILN Tt HLUIM?
P A o Hior) 1 e gid 82

ANSWER:-

(a) 14

(b) 12

(c) 13
(d) 15




23. The first computer mouse was developed by? QWWW A re wtav?
ggdl e} U3 fhas gRT fawRia fasar war ur?

ANSWER:-

(a) Douglas Engelbart
(b) William English
(c) Daniel Cougher
(d) Robert Zawaski

24. The OMR stands for?OMR NTTN? NTHSIR BT Hdd &2

ANSWER:-

(a) Optical Mark Recognition
(b) Optical Magnetic Reader
(c) Only Mark Recognition

(d) Optical Markup Recognition

25. Mouse is? NTON TeT? AISH &2

ANSWER:-

(a) pointing and drop device
(b) cursor-control device

(c) monitoring device

(d) Both aand b

26. Which device can produce the final product of machine processing into a form usable by
humans? (P TFIB VLTI RTAT IIIATIT I (W AfH A0 TS
AT COfd FATS A2
ﬁﬂﬁ@;{ﬂﬂﬂﬂﬂﬁ%%dﬁwmﬁwmmmﬁﬁwwﬁw
DI Dl §?

ANSWER:-

(a) Storage

(b) Input Device

(c) Output Device

(d) None of The Above

27. keys are present on the top row of the keyboard? ___ ﬁ@ﬁ'm

SAA Ao S Ee e pimrslars & xid ufea & A gidi 82

ANSWER:-

A. Function
B.Type writer




C.Numeric
D.Navigation

28. The most commonly used input device? TITGTH (I ITIT© aﬂ"’ﬁ? fGor2s?
T 3ifre IUGRT g1 a1 3Ye fSarga @ 2

ANSWER:-

a) Mouse
b) keyboard
d) scanner
c) printer

number of keys are marked on the computer keyboard? FroBad
aﬂw%n'éaa'@@wa?ﬁf‘rww’ S PIEE W i 3 §en feat
gidi 82

ANSWER:-

a)0to 10
b)1to 10
c)0to9
d)0to 11

30. Which of the following groups are only input devices? Rafafis asw&ﬁ?mrm R0

QYT 2P fGerzse Fafafad o9 o9 4 I9g Faa 5ye fsasa &?

ANSWER:-

a) Mouse, keyboard, monitor, Joystick

b) Mouse, keyboard, printer, Light pen

c) Mouse, keyboard, Scanner, Joystick, Light pen
d) printer, plotter, joystick , speaker

31. Which of the following is not an output device? fRTER m%w@%@mwv
fFrafafaa d @ 9 a1 anseye fSasa T8 32

ANSWER:-

(a) Monitor
(b) Printer

(c) Headphone
(d) Scanner

32. To see all information which device output uses ? ANW OYT (MYTO T ez
TMOBAB IIZE Fa? I TSR 3T & fore w19 1 fEarsy sreeye Swa Hrare?

ANSWER:-
(a) Monitor
(b) Keyboard




(c) ALU
(d) CPU

33. Which device allows you to enter data and instructions into a computer? (BTN G2

WANTF FEOBITE (BT a8 AT IIIAL T3 FATS (A P A1 fEarsd sl
Hge d Sel SR e gof o 91 ergafa dar s?

ANSWER:-

a) Input device
b) Output device
c) ALU

d) CPU

34. Which input device is/are used to move the cursor position on a monitor screen? XNoad
B I (@ 7 IR FACS (N 2B fGOr2T 7327 a1 TH2 AR TP
R HuR ! fRUfT & wiTaia w31 & e frd sqe fSasa &1 sy fear e 82

ANSWER:-

a) Mouse

b) Joystick

c) Light pen

d) Bothaand b

35. Ctrl, Shift, and Alt are known as

AfAfSS | ctrl, shift 3N Alt BT

ANSWER:-

(a) function

(b) modifier

(c) alphanumeric
(d) adjustment

36. A device that communicates the results of data processed by the computer and converts the
digital information into a form that humans can easily read and understood is called?

g0 fEerRsT T TooE AT AfFTF© (Coa TArTaASHATE CToMTIT T
g3 FEGB SATTEH 9NN AFB A AH AMFT FTH TN VT AZCG2 NGO A3
JRATS ATCF ITA? TP IUDRY Wl SR GRT AU ST P Ul o1 Hifva sar g
3R F&forea ga & te T w0 # ufkafda wwar 8 o ara st § ue ik wast
|l §, FEATAT 3 ?

ANSWER:-

a) Input

b) Monitor
c) Output
d) Keyboard




37. Wireless mouse communicates through ? (9T TGS NILTTH CATSTITSY ? TRRAH HISH
fPas gRIGIR a1 g 2

ANSWER:-

(a) radiowaves

(b) infrared wave

(c) microwaves

(d) Electromagnetic signal

38. What type of devices are computer speakers or headphones? FrooE e ar
TOTH fF 47 foerzs N6 » e Wi U1 e8I HH UPR & IUHT 82
g1Yc?

ANSWER:-

a) Input

b) Input / Output
c) Output

d) Software

39. Output unit includes ? W%ﬁﬁﬁw ? emg,tqﬁtmﬁa% ?

ANSWER:-

a. printer

b. monitor

c. plotter

d. All of these

40. The computer monitor is connected to CPU through ? FrooE UNed %20 aa
NI 5@ FATEN ? PUCT AT cPU S ATHH A JSTEIAT R 2

ANSWER:-

(a) Bus

(b) Cable

(c) Wire

(d) Line driver

41. Which generation based on VLSI microprocessor? m\?ﬂgqﬁﬁﬁ'ﬁwmmw
AYRAZ?  FCITITHNR MRTHTATTAR B f$fg I (T For0?
ANSWER:-

a) 1st

b) 2nd

c)3rd




d) 4"

42, generation of computer started with using vacuum tubes as the basic components.

SR Bl Tl g edl & U A I5gH ogal ST TN 1 & A14 IF 55 |
e SAT FRTTTT OnF T o83 1329 F1a S0 6rad Ao G

B
ANSWER:-

a) 1st
b) 2nd
c)3rd
d) 4

43. Batch processing was mainly used which generation? mlﬂﬁﬁﬂ'@mﬁ%m
BT WART fHaT STaT Y12 IITG T TS (FIN AGTA IO TO?

ANSWER:-

a) 1st

b) 2nd
c)3rd
d) 4t

44. ULSI stands for? ULSI BT T 31 82 uLsI NI 32
ANSWER:-

a) Ultra Large Scale Integration
b) Under Lower Scale Integration
c) Ultra Lower Scale Integration

d) Under Large Scale Integration

45. HLL stands for? TIUEIUE T ATeTd 82 HLL G Af@or
ANSWER:-

a) High Level Language

b) High Layman’s Language
c) High Level Lesson
d) High Layman’s Lesson

46. The period of generation was 1952-1964. tﬂ'&ﬁaﬁ 3afdy 1952-1964 4

AT AT Qe 1952-19641
ANSWER:-

a) 1st
b) 2nd
c) 5th

d) 4th




47. Select the name of generation in which operating systems were built? wﬁ'&mqmiﬁ
o7 ITIRTET e a9 TRIT UT? (SN ST WATA(G: fHTBw tofd Tt
TG O NI R 571 F?

ANSWER:-
A. First

B. Third
C. Second

D. Fourth

48. The processed form of data is called? éa%th@wﬁ:faﬁwm%v ACIL L)
Afw PO NS IATRH?

ANSWER:-
A. Field

B. Information
C. Words

D. File

49, Fifth-generation computers are built on? mm%m fFawR e %.? HPEY
AT S oo Ao zm?

ANSWER:-
A.System Knowledge

B.Programming Intelligence
C.Artificial Intelligence

D.VVLSI

50. Select the technology that is used in the First generation of computer. 39 qB-P BT IAT
B FoTaPT IUTNT Hugex ot ugelt Wi # forar Smar 3 1 AT Foa Freend oI
Y& TITT FAT TH O (R 57 FFA |

ANSWER:-

A.Transistor
B.LSI
C.Vaccum Tube

D. VLSI

51. Select the name of generation in which introduced Microprocessor. 3 tﬁ?ﬁ & AT BT IUH

B3 ForTH ATSHITIRAER U= forar 71 AT | A OTTa NN N1 541 B (TN
WETHIATINA HIFSof6 TR

A. Fourth Generation
B. Second Generation
C. Both (A) and (B)

D. Third Generation

52. Second-generation computers are manufacture of WW%W Cal
frafusiR e sy qowr sF=eerasfi____ 43tea

11




A. Vaccum Tubes
B. LSI
C. Transistors

D. VLSI

53. 13. A computer contains Wmﬁ ﬁ?ﬂ% ? 96 FG6IF

Ay ?
A. A central processing unit

B. A memory
C. Input and output unit
D. All of the above

54. 13. A computer contains Wmﬁ ﬁ?ﬂ% ? 4H6 FHGBIF

Ay ?
A. A central processing unit

B. A memory
C. Input and output unit
D. All of the above

55. 15. Select the purpose of the Algorithm and Flow chart qaﬁﬁzm aﬁ?wﬁalz‘wa%m
T SUTESIEAN 33 T 5ILbd STy [NAToN T2

A. Know the memory capacity

B. Specify the problem completely and clearly
C.Direct the output to a printer

D. Identify the base of a number system

56. 16. Select the year when Pascaline was originated__

39 94 BT 99T B oG Pascalineﬁmgg AR
(T IR ATMATHATR NS B AT TG 512 I5af6 Ao Td~_

A. 1617
B. 1642
C. 1620
D. .1837

57. Which one is the first computer to use keep Program Concept?

PIY UITH BI-HY BT SUANT B AT gl SR Hi- 9T 82
Keep Program Concept 19 F4T aﬂnﬁ@%m FB?

A. UNIVAC

B. EDSAC

C. ENIAC

D. None of the above




58. Select the number of major companies all over the world build microprocessors
ST WR | AT IMRIER] &1 AT $ aTell W@ Uiy &1 6 BT a9 B
STAT ATy R THTATTAR (Of 78 TG TG (FAINT 2 47 A6 T8

A Only one company
B Three companies
C Tow companies

D many companies

59. which generation used Power-Book and Pentium microprocessor?
TTeR-§ 31R UfeaH HISHIMRRR &1 SUaNT foq Uit & favar war um
(PN AGTA ANSAL-IP A (HNOAN WRIPIATTIE IR FR?

A. Third Generation
B. Sixth Generation
C. Fifth Ganeration
D. Fourth Generation

60. Who is he?

A. Charles Babbage
B. Bill Gates

C. Blaise Pascal

D. Elon Musk




